*UXSD 5R]NEDG

/DVIRB
03 .6% 5

& 7\J

3Q

&]

SLCWHN

3UJHGPLRI GR Z\ERUX PJU /ISRZIF] $UIXU $
% 203 .6% 5 z

3UDFD ] XU]aGTHQIHPL HHNI\FTQ\PL

7\6]

3UJHGPLRI GR Z\ERUX PJU /ISRZIF] $UIXU $
% 203 .6% 5 z

3UDFD ] XU]aGTHQIHPL HHNI\FTQ\PL

7\6]

3UJHGPLRI GR Z\ERUX PJU /ISRZIF] $UIXU $
% 203 .6% 5 z

3UDFD ] XU]aGTHQIHPL HHNI\FTQ\PL

7\6]

= \EUDQH HIHPHQIN IL]\N. GU 2UGRQ - DURLQD
PJU 6KFKHSDQVN\L 3DYIR $% -03
%5 /

7\J

VRERWD

7\G]
3RGVIDZ\ NU\PLQRIRJLL PJU = DVIN $GUDQ $

03 .6% 5

7\6]

-RPXQINDFID VSRiHF]QD Z JDU]aG]DQX EH]SIHFTHEVIZHP PJU /D]DU -RDQQD

% 03 .6%5 7/
ZDW]IDN

= SIRZDGTHQLH GR IHFKQIN
NA\PLQDIVINFTQ\FK GU _UDZF]\N = DIGHPDU
% 03 .6%5 =

7\6]

5 /

= SURZDG]HQIH GR IHFKQIN
NU\PLODIVINFJQ\FK GU .UDZFJ\N = DIGHPDU
$ /$% .5<0,1%$/,67<., =03 .6%

7\G]

7\6]

- RPXQINDFID VSRiHF]QD Z TDU]aG]DQIX EH]SIHFTHEVIZHP PJU %XG]IN 7DGHXV] $

ZDW]IDN

03 .6%5 7/

7\6]

= SIRZDGTHQLH GR IHFKQIN
NA\PLQDIVINFTQ\FK GU _UDZF]\N = DIGHPDU
% 03 .6%5 =

7\6]

= SIRZDGIHQIH GR IHFKQIN NU\PLQDIVINFIQ\FK GU . UDZF]\N = DIGHPDU $  /$%
.5<0,1$/,67<., =03 .6% 5

7\G]
3RGVIDZ\ NU\PLQRIRJLL PJU = DVIN $GUDQ $

03 .6% 5

7\G]

3RGVIDZ\ NU\PLQRIRJLL PJU = DVIN $GUDQ $
03 .6%5 &

7\6]

= SIRZDGTHQIH GR IHFKQN NU\PLQDILVINFIQ\FK GU . UDZFT\N = DIGHPDU $%
o

-03 .6%

7\6]

3RGVIDZ\ NU\PLQRIRJLL PJU = DVIN $GUDQ $
% 203 .6% 5 z

7\6]

3UDZD L RERZIg]INL GHIHNINZD PJU = DVIN
$GUDQ $ 03 .65 &

7\G]

3RGVIDZ\ NU\PLQRIRJLL PJU = DVIN $GUDQ $
% 03 .6%5 &

7\6]

3UDZD L RERZIg]NL GHIHNINZD PJU = DVIN
$GUDQ $ 03 .65 &

7\G]
= SURZDG]HQIH GR IHFKQLN
NU\PLQDIVINFJQ\FK GU .UDZF]J\N = DIGHPDU
$  /$% .5<0,1$/,67<., =03 .6%
5 7/

ZDW]ID\




/DVIRB

5 /

= \EUDQH HHPHQIN LQIRUPDINNL PJU ODiHN -DFHN $%

.20387(52:% 03 .6%

7RPDV] $

7\6]

3URIHNIRZDQIH L PRGHIRZDQH VAVIHPYZ EH]SIHFTHEVIZDGU 3UDX]QHU

.20387(52:-% 03 .6% 5

03 .6% 5 -

3URIHNIRZDQIH L PRGHIRZDQUH VAVIHPYZ
EH]SIHFTHEVIZD GU 3UDX]QHU 7RPDV] $%

*UXSD 5RINiDG -03 6% 5 & 7\J
7\6] 7] 7] 7\6]
= SIRZDG]HQLH GR IHFKQIN = SIRZDG]HQLH GR IHFKQIN 3RGVIDZ\ NAPLQRRJLL PJU = DVIN $GUDQ $ | | = SIRZDGTHQIH GR IHFKQIN
NUNPLODUVINFTQNFK GU _UDZF]\N = DIGHPDU | |NINPLODAVINF]Q\FK GU . UDZF]\N = DIGHPDU =03 .6% 5 NUNPLODUVINFTQNFK GU _UDZF]\N = DIGHPDU
$% 03 .6%5 = $  /$% .5<0,1$/,67<., =03 .6% $  /$% .5<0,1$/,67<., =03 .6%
5 / 7\G] 5 /
7] = SIRZDG]HQIH GR IHFKQIN ZDIW]IDI
= SIRZDG]HQUH GR IHFKQIN 6] NUNPLODUVINFTQNFK GU - UDZF]\N = DIGHPDU
NUNPLODIVINFTQNFK GU - UDZF]\N = DIGHPDU | | = SIRZDGIHQIH GR IHFKQIN $ /%% .5<0,1%$/,67<., 203 .6% 7\6]
a $% t03 .6%5 = :N;\PLQ%‘Q\Flgl% $u$}ug§z]w = gg;mzlna/u 5 / = \EUDQH HHPHQI\ IJ\N. GU 2UGRQ . DURILQD
z s/ - 1=/ .- -on = PJU 6KFKHSDQVN\L 3DYIR $% 03
w 1 6%5 /
& = SIRZDG]HQLH GR IHFKQIN
NUNPLODUVINFTQNFK GU _UDZF]\N = DIGHPDU 7\G]
2 //$% 15<0,1$/,67<., =03 .6% URHMRZDOH |
PRGHRZDQIH V\VIHPyZ
ZDW]IDA EH]JSHFTHEWIZD GU
3UDX]QH 7TRPDV] $
7\6] -03.6%5 &
BURIHNIRZDQH L PRGHRZDQUH V\VIHPYZ
EH]SIHFIHEWIZD GU 3UDX]QHU 7RPDV] $
203 .6% 5 -
7N 7\ 7\6] 7\6]
_ = \EUDQH HHPHQIN LQIRIPDINN. PJU ODHN = \EUDQH HHPHQIN LQIRIPDINNL PJU ODIHN ||| = \EUDQH HIHPHQIN IJ\N. GU 2UGRQ - DURLQD
-C]\WREF\ =03 .6% 5 DFHN $% 03 .6%5 = DFHN $% .20387(52:% =03 |||% 03 .6%5 -
- 6%5 /
*iyZQ\ EXG\QHN $-* XI G — G G
= DVI\QJIRQD = \EUDQH HIHPHQIN LQIRIPDINNL PJU ODiHN 1 = \EUDQH HIHPHQIN IL]\N. GU | | = \EUDQH HIHPHQI IJ\NL GU 2U6RQ - DURILQD
-DFHN $% 03 .6%5 = = \EUDQH HIHPHQIN LQIRIPDINN. PJU OD#HN ||| 2UGRQ - DURIQD $% zof |s% 03 .6%5 &
DFHN $% .20387(52:% =03 |||3.6%5 - ‘
7\G] 6%5 / 7\6]
= \EUDQH HHPHQI LQIRIPDINN. PJU ODHN 6] = \EUDQH HHPHQIN IL]\N.
DFHN $% 03 .6%5 = = \EUDQH HHPHQIN ILJ\N. GU 2UGRQ - DURIQD 60 2UGRQ - DIRLQD $%
% Z03.6%5 - :03.6%5 &
7\6]
= \EUDQH HIHPHQIN LQIRIPDINNL PJU ODHN ~DFHN $% .20387(52:% =03 .6% 7\G]
5 / = \EUDQH HHPHQIN IL]\N.
A 6 2U6RQ - DIRLQD $%
S 7\G] 7\6] =03 .6%5 &
= 3RGVIDZ\ NAPLORRJL PJU = DVIN $GUDQ $ 3UDZD L RERZIA]N. GHIHNINZD PJU =DVIN$GUDQ $ =03 .6%5 &
. S 7\6]
O 03 .6%5 = ‘
L 7\6] BURHNIRZDQIH AVIHPYZ
© 7\G] BURIHNIRZDQH L PRGHRZDQUH V\VIHPYZ gz‘[])im';]u“fxggveu -
3UDZD L RERZI]NL GHIHNINZD PJU = DVIN $GULDQ $% - 0| [ERISIHFIHEVIZD GU 3UDX]QHU 7RPDV] $% 1 o 6"/]5 " e
3.6%5 t03.6%5 : - -7
7\G] 7\G] 6]

= \EUDQH HIHPHQIN ILT\N.
GU 2UGRQ . DURIQD $
03 .6%5 &

7\6]

5 /

7\G]

= \EUDQH HHPHQIN LQIRUPDINNL PJU ODiHN -DFHN $%

.20387(52:% 03 .6%

03 .65 &

3URIHNIRZDQIH | PRGHIRZDQUH VAVIHPYZ
EH]SIHFTHEVIZD GU 3UDX]QHU 7RPDV] $%

7\G]

3URIHNIRZDQH L
PRGHIRZDQIH V\VIHPYZ
EH]SIHFJHEVIZD GU

3UDX]QHU 7RPDV] $
3URIRNSRZDQD " =03
6%5 /

ZDW]ID\




/DIIRB
*UXSD 5RINiDG = O3 .6% 5

& 7\J

QLHG]LHOD

7\6]

= \EUDQH HHPHQIN LQIRUPDINNL PJU OD{HN
-DFHN $% .20387(52:% -03
.6%5 /

7\6]
3URIHNIRZDQUH L
PRGHIRZDQH VA\VIHPYZ
EH]SIHFTHEVIZD GU
3UDX]QHU 7RPDV] $%

03 .6%5 &

7\G]

= \EUDQH

HIHPHQIN

IJ\NL GU

2UGRQ

_DURIQD $
-03

.6% 5

7\6]
3URIHNIRZDQUH L
PRGHIRZDQH VA\VIHPYZ
EH]SIHFTHEVIZD GU
3UDX]QHU 7RPDV] $
3URIRINSRZDQD = =03

%5 /

ZDWIDN




